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And one year in the lifetime of the son - 327 %2 DN

OVERVIEW

The X nx explains that when the miwn states that if there were 07V that it
belonged to the father, the P11 is not believed; it is true even in a case
where the P17 was in possession of the field for three years. The reason it is
not considered a P17 is because one of those years was after the demise of
the father. The 7P was completed during the lifetime of the son. This type
of AP 1s not valid. moon will qualify this statement. There are times when
a 127 »n2 apin is valid and times when it is not valid.
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This is only when the son was a minor; that it is not considered a 7P, as
w9 explains; however if the son was an adult; over m¥»n "1 it is

considered a 7P if the p>in ate the produce two years while the father was alive and

one year after his demise, if the son was an adult -
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as the X3 cites a RN°>M2 in 2027 NPT 27D that if the pomn —
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consumed the produce in the presence of the father for a year and in the
presence of the son for a (second) year and in the presence of the buyer

for a (third) year, this is a valid 1?11 he was in possession of the field for three
consecutive years. He may retain the field even if he has no 77°2n 7vw. It is obvious from
that X7n3 that a 711 can be made 7277 »n2. It is therefore necessary to distinguish whether
the son was a Jup (were a 1P is not valid, as in our X3), or whether he was a 7172
(where the 7311 is valid, as in the case in 2"2).

mooin offers an alternate view:
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And the (2"2)w'+9 explained concerning that which the X723 shortly
states that it is not a 1P if the son was a jup; that it means and even if he
matured; the 0"2w" explains this X3 to mean (that not only is it not a P11 if the son

"1t is not considered a 711 (year) if the son is a minor, since he does not know to make a .

* xnowa 7"

? The buyer bought the field from the son one year after the demise of the father. However it was the P>
who was in possession of the property, for three years (including the one year after the buyer bought it).
The 111 claims that he bought it from the father one year prior to his demise.
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matured after the demise of the father, but rather it is not a 7317) —
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Even if the son matured in the lifetime the father; it is still not a npm.4
The reason is because an adult in regards to his father’s affairs is
considered a minor; he is not aware of his father’s (previous) dealings.

nmooIN anticipates a difficulty. According to the 2"aw" that a %172 is considered a v in his
father’s affairs even if aR7 »na 9°7a7; then how is it possible to have a 3277 *192 apIn?
madIn answers:
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And the n'9 says that according to the s'0"2¥" interpretation we must
say, that which the previously cited Xn>12 says in 23027 np P75 that it is

a valid np if (some of) it took place in the presence of the son —
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That is (only) if the son was an adult at the beginning of the 711, The son
was then aware that his father owned this property. If the son makes no fxnn» after the
death of his father, while the P11 is in possession of the field, it is included in the 7P
years. If however when the 7711 began the son was a jvp, then even if he became a 7173
while the father was alive, any time that the P> was in possession of the field during
the lifetime of the son cannot be included in the P11 years. The son may have never been
aware that this field once belonged to his father. This is what the 2"2w2 meant when he
said that 2K;77 >°172 9°727 12°0%; that he became a 7173 after the 7P commenced.

SUMMARY
If the son was not a 917 at the beginning of the npm, there is no 127 »n2a apn.

(However, according to >"w1 it is not a 7P, only if the son was a WP when
the father died.)

THINKING IT OVER
Why did the 0"2wA interpret '2°737 12°08)' to mean even ax: »13?°

* This is in a case where he was a Jop when the 7pTn began (as Moo will shortly explain).

5 The xm3 states that if there was a two year 1192 11 and a one year 1192 Xow 7p1n, if he was nnnn nona
mwny, then it is XYW that it is not a 7P™M. On the other hand if he was P>1in two years 2R 12 and one year
1277 >°n2 then it is not X w» that it is not a pIM. According to the 0"2w the difference is readily understood.
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